Key
1a) sigma / sqrt(3) = 5.7735

1b) The average of several measurements is more likely to than a single measurement to be close to the population mean (assuming the sample and information are unbiased).

1c) solve sigma / sqrt(n) = SE to get n = (sigma / SE)2.. Therefore, n = (10 / 5)2 = 4

1d) 
[image: image1.wmf]16

5

10

2

2

2

2

=

÷

ø

ö

ç

è

æ

×

=

÷

ø

ö

ç

è

æ

=

m

n

s


2a) the desired alpha level, the desired power, and whether there will be an equal or unequal number of boys and girls in our sample

2b) REQUIRED SAMPLE:      Total 136  (68 in A, 68 in B) via WinPepi COMPARE2.EXE
2c)  REQUIRED SAMPLE:      Total 153  (51 in A, 102 in B). Changing the ratio of the two sample sizes increased the size of the sample.
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